F oA 3D 105 &R % -

EEE Y

O pdepigy Fhfr by

(111 #2*® 1p2111#7* 31p) 111.02.09
¥ & f ¥ 3 %
- : 3 3 33 w2y 2 j
KR £+ 59 L 240 Wz B3 30
i (110 8 M0 p T RFa gk |(DU02 BB SR T Y ~ F |22 p WY sz |(DEF L A+ ER (1) 10 p 13:30 274 € 3K
— 0BO0RFFEMELL) |@QURRELD PREEEBERTPERLRE| gy (265 %3 4 16:30 ?5;2;?”» e
11 10:00 & ffpA-xEA ()11 p B E 2 Ar itk (21102 FF i (B3 & B 4o 17 BIWE R4 CRBEEH -
—3 (L) (4)14-18 p % § ReFl& @VF # 5T oL HEE (DOF L7 Frep g ¥ @1p ®Ep LSS 12
23 10:10 4 4 (5)16 p #2835 LR (10 £12° A~111£37 ¢) LR AE 0 N 34D R
—z 12:00 BB KEFIED g3k [KPFTAR 3 YRR é® (A% - aKFEBE LHE (5)2/10 B %] it #5344 (HgF) b
33 1300 35 # 4 0t 54 /15 &2 8% ik 1102
—3 Bt 4 G)heit B E i PARCH IR LW K ()08 p et g p ki s
43 13:30 fti‘v‘ﬁ’éﬁ(éﬂi) (6)111 & = B M F 3% -3 % EES YRR (6)#% AR H ARk R T
| 2)11 p B T I RN B RN FEEiTER) B
B o is a4 Byl pEomERT Ry (8;2/16A€ﬁ%€;i (Vs A+ Fray
= 08:00 3 s A2 wEY EES ey A A B!
EFE A" (NRFIEHITE L 2 FE AP M3 (9) phekc T L 5k
(§)15 7 3 Ie % P g (10) Fhcke? 2 32 %
(4)28 7 fok e £ p e @ Frrpiei b H Ao

=

(1)14~15 p = &gy
Q12pf4FE> 2 RE
5p % EE= }_E&]%‘*»ﬁﬁ‘»’i%‘*
(3)28-29p ¥ - S e 4 (- =
ZEBFOF)
(4)28 p = = 13:10 #f Forii A7y
= = 15:10 #0iF €
(B)¥w TR ITEN &

(6)31 p % i = B ¥ FrArsh & T

e

(1) 3 p &R RISk B 45
29 pAxm(-)

(3)16 p - & mixEi ot &
(4)17 p = & Bz %
(5)23 pALB(=)

(6) 23 p 8-9 %7 F & il &7

3
i

(7) 30 p 9-11 £ 4 & 4 &oit
k‘jiﬂ!

dPFTARFEER
LR R Ry

1)4 p % - H=x TR TR RS
EpRRER (R e ~ L)

@70 ¢ S of B R

Q) E T HREREE S
SREEFLAE

@rEsn 111 B & B2 %318 4 #%
2L i

(B)7 P A== & 5 ¥ B4 5 shof »
ITy EE A

()1 B4 PRI b Bt 3% 2 JFLRP §

(M) p i 8% AL A2F
¥

(8) F4yreipag

iw

¥ EREEH

D5 et ¢
()12 p Bcielr £ 2

(19 pfpAwm é(ﬁﬁl“ Eed

EBFAE)
@26 p FAFTETEE

(5)26 p B IR 22 T
(6) F+4c B st EsTY §

| = &4 2 4 4 Febn (57
3/2 8 3/16 % 2 S8 %H, ¥ 3
HE O EeRITHE)

(2)3/4 % é ¥ #‘%@1 T4 R §&

(3)3/5 142  ¥(-)

)3/1 %ﬁ?iﬂﬂrfﬁ 106 &

(5)3/8 poek 4L | § &

(6)3/11 % p ¥ A~ PR 40 (7
L H gk

(D3/1T P A= € &

(8)3/21-3/25 > %5 4 8 ¥ iz
ik 110-1 Je3z P fmFEid

(9)3/25 /2T FHRA e Ho Y

(10)3/28 13:00-15:00 % 4 3
a2y S [EP ¢ (% =)

(11)3/31 %23 =84 8% K
AR E Y R REFILE

(12)3/31 % ¢ b gpe s 4 o Hif
B 47 (67 )

LN & Fes i Sk

(13) 2 * P -FLF R E R

(D)1 p A= a_ra:;@x{ki B
(2)2 p $f7 € RTD €3k
(3)F 2 @4 fp 3 Joit Az
(4)% %3+ J’ifﬁ e e
T R iR TR
(6)|Fi:}€7 B o

(=2}

(DA~5p 2d ~ P Ea i

(912 ~13 p = & it

(3910 p &% F> FELHF
(CEHES 4 ED

@) 20 p HF g

()27 p B HFEEF

*4/23 Hd 2.2 iR

k40 ik
1)6 pArm(=)
(2) 6p &%y iﬁv-‘r?%ﬁ

3

()13 p- - EnFEFR

;L%

(4)19 p - &% g8 F
(5) 20 AL ®|) (=)

(6) 20 p = & &% - X i
i

(7) 27 p = &5 % - < o8
Y

AR FEEHR
KA R R R R G R

(1)6-13 p % = 4=k iR iR T
WFL(EF CFE S ®p)

(210 p A 1 EE R T

Q¥ AHKFEBE LR P4

@ EERERARE 324
ARF S

(5)18-23 p 2 WLt & Fe ik F

(O 12ELEN E MR

(Typs 2% PHID 40 3 8 52 HFIIP

(8)20-29 p 4 & £33 A % (5
DEEABR T AADRTER)

(9)7Le Ll (e ELE

(10)7 8L FT TR & i §

(11)4/26-55 > Bt e %37 &

((MESSEER $i3-2::7 SNy 3: 218

(e p L8P EH

(14)f 3 es p oo 8 3 o 5csEa

(15)4cid BRATAL

4 5k

D9 par2p &
(2)16 p Bl 722

(323 p BCiIFHE £ a@ﬁ

@A p e g

(5) 34 B spacirnbi §

(DA/1 i1 245 2 B Emay

C1(2)4/6 1487 z #(=)

(3)4/16-4/19 3 = 5 2 5 ¥ friz
FhE 110-2 Je32 P wmFain

(D421 - #og 2 En (FuEF
%)

(5)4/28 SRV BZEFARARE

: gé‘

>|< Ewﬂ,i‘ #a

KF R

(6) #Fra1 (T3 JHLEF A

(7) 2 1':3#,%{,?;53%1;:@

ﬁ‘iip%ﬁi
pe 45 11 p 16:40)

KE &k
POE gAY L

(
(7)4F 2+ ﬁ IR mﬁ 3
(8)30 1 p & fafie— » Biplsk

=y

137

=
o1
o

1471

15415

16722

17729

(1)4/30 ~ 51 p F B jafrii- » Fiplk
@5~ 6p- .- Fr¥ XK
Y ozEnBEY
(3)5 p 13:00 & fHiFr y
BH12 p 17 A B[ 2R H
FETEToE~ ¢]
(5)20-27 p §xiE » AR L4 4
L FR LA )
¥R ALA S [y azi] 59
(6)27—30 PELE B2 PR L
R GENE T & T 3= S
(7)30 p = & sypmipie £ 5
(8)23-26 p = & ik b fa g s

K51 R

(1)4 p = & 59 W4
(2) 5/9-5/13 -k 3 % (17 %)
EOpfeded o R
(3)11 p k3% 2(FFiB)2
fefed 4 2 ¥

(4)11 pAL®(T)

(5) 13 p A8 f iRk b %
2

(6)18 pALE(= )2 = & B
*EFTALFEER
KEIA R ARk G
P ST S

(123 p A= % = H =0 TR TR
B RIE R 4

(228 p Htr2 B EHE AR T

@15 & B %5t i § 248
KT R

(4) 3 pAztfeda
PP RIS -A
%)

(5)110 £ i RstFortlhdn s

(6)18-27p © % & £ x5 A H% (¥
Rfzlimigr -7 R fg)

(ML %22 g pEpumn de

(B)L*f}( 4 ;h b lfﬁﬁ‘fﬁ_ﬁ <+ 3 3§1 ;v:

R Y

(9)11413’?”“" A
e

LRSS 8 5

FER e

M7 pstnmg
QuUpiEme

()25 P A7 FORAR YR

fe= 35 2y
(@28 p 42 38m

§

G)Y 11 5= R g

513 5@1@ w3

(1)5/4 i 4*

(2)5/2 ~ 5/3#’
(k% 3=~ 3)

(3)5/11 % = % = # %+ H X MR
6 &

LN S-S o R

(4) FAzfE » T 7 R

(5) * A& kRt

(6) A2 B -Foegy F

2 #(2)

wa g i g |3

(133 E g ;i}'f?%éi =
(3)11 n :

%
(H13 p
(5)16 p
6)19 p =7
(723 p %=z
(8)26 p =
(9)27 X P03
(10)= ;
(11)= ** ey
(12)4% AR A IR B E

17}

18,

19712

20119

2126

(1)1 p & %038 (%37)

(2)3 p == FxiE- =

(329 PELE »E ¥ - FFERIR &
TATE EF R
JEFY FAAh S

@DF 17TF- #aitf d

(5)% 18F- et f &

(6)30 P i B - ~= B Y Frizr A 3T

e o
R

(7)28-30 p # & ¥ (- = &5 %)
(8)30 p HES
10:00 & #14p % #FALF § 3K
K6/15 #dz ~ g
K6/16 447 ~ AR T
b SR
IJLH-4 §t 5/28 + =
6/l I 6/1T =

*6 7 iRk

(1)1 p 2 %83 (3)

(2) 6/20-6/27 ~ # % it
dBFTARFEER

KB TR P I i

k- ERFATHEHR

(1120 £ & e+ Hp-gos oot
@y ﬁ uﬁ T& T;,F.?tg:};%iig

(QUO 5 & B BY+ * i

(@)% = it ip] T LR £
R ()

(@) tefed 1 £UFF Btk THTPLR|%R- ¢
B

O R S SR KL
R

OF Hiferp L HY &%+ @

(OFIEEREES
(18 pn4 s
QB ppdwm g

(1)6/2 %.z—ﬁ AT gHHELE S

(2)6/6 i F¥E(r)
(3)6/7 ?\Kzr_i)‘u EEN IR

(DB/10 % - ~ = #xcg2pHan|T

A

(5)6/13-6/24 FAT4 i 1o ¥
S w6 R

(6)6/16 # * 22 & 3

(B/17 % ¢ 4 2 4 16 3]

w 3¢ (7 )

(8)6/30 % % - B = F 2 = AR
gﬁ”**i“fﬁ'ﬁ_ﬁ%d‘; 4 A
2B KR FRRE

(9)6/30 B2 & & &t

*MAEE B ES S

(9) & Z2BiRa a4

i £ 3

()3 w;le: e a .
4 *
&

(3)28 2030 o - EEBA
()30 p RES e 1330 ik
oo M AR ENRGRE RIS D
A5 o

(8)30 p # ( 4t— = & miAT P
xR g4 FY ﬁﬁapkﬁéﬁ TN 8
mi

i3

710

#A MY 713
IR T4

(2)i2 5T R BHARRE 4
(3)7/11L > Mpkii #h L 4 32

HE-3R T 62 F =
KA T LE N E DEERZBLELBIRAZIF| ()2 p ot ¢ (DT/14 FHATS G PR EL B
—. 4% 7/12 Fate 7

XRGEHFE RN EF







